e E 1S SR A

BHEE AT : /NFETH
EFREA 22:03
A EREK
Jm &5 et K4 TWIRDL FEREEE RO 152540 B
1 POm HE—ER ERRER 11,410 0. 000 11, 410. 000
O " D X
B XL
2 FH OB LLbx e 370 0. 000 370. 000
3 INOR DT HHERER 6, 250 0. 000 6, 250. 000
NHK?»6EHEA
4 &R FE . M. 655 0. 000 655. 000
BRAY
Hif 18, 685 0. 000 (A) 18, 685. 000
5 NER
No INE— %, A K4 =
Yoy 2 — 350 FH A
Z D
Rz H (6) FrE 0 (1) Z DOl (1)
I EM ) | AERERO) | EaEKE) MR 0 9 0
1255 9)%s (B) [ OFEFEICHE L s D (0)
19, 045 19, 043 358 1. 88 0. 000 0
BeEE 5 KB CHK
0

(A) FSEEAF B) AL () AT DFEME I LR L2 o 0) A ES = (A) + B) + (C)
(E) : WEsh ¥ 2y (F) - & 2% = (D) + (B)
BeEFRE = ) + G + @) - (D




